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Direction :

Answer the following questions

by selecting the correct option.

1.

/112

One of the allegations raised against
Indian philosophy is that, it is

(A) hedonistic

(B) pessimistic

(C) pluralist

(D) None of the above

The original scriptures of Indian
orthodox philosophical schools are
primarily explained through

(A) Bhasya

(B) Satra

(C) Tika

(D) None of the above

The Carvaka philosophy believes that
(A) the Soul is eternal

(B) the Soul is not eternal

(C) the Soul takes rebirth

(D) None of the above

The number of the element(s) which

constituted the world, for the
Carvakas, is/are

(A) one

(B) four

(C) six

(D) None of the above

The term ‘Tripitaka’ literally means
(A) three pots

(B) three books

(C) three boxes

(D) None of the above
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According to  Buddhism, the
indivisible tiniest part of ‘Time’ is
called

(A) Pal

(B) Ksan

(C) Muharta

(D) None of the above

Among the following, which is not
included in the Pancamahavrata of
Jainism is

(A) Ahimsa

(B) Asteya

(C) Asatya

(D) None of the above

The Anekantavada of Jainism is a/an
(A) metaphysical theory

(B) epistemological theory

(C) logical theory

(D) None of the above

The number of Alaukika Pratyaksa
admitted in Nyaya philosophy is/are

(A) one
(B) two
(C) three
(D) None of the above

The fourth ‘Avayava’ of the
Paficavayavi Nyaya admitted in
Nyaya philosophy is

(A) Upanayana

(B) Upanaya

(C) Udaharana

(D) None of the above
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The School of Indian philosophy,
which also known as ‘Anwiksiki’ is

(A) The Nyaya

(B) The Vaisesika

(C) The Vedanta

(D) None of the above

Vyapti is an invariable relation
between

(A) Sadhya and Paksa

(B) Hetu and Sadhya

(C) Hetu and Paksa

(D) None of the above

The original scripture of Vaisesika
philosophy was written by

(A) Maharsi Gautama
(B) Maharsi Kanada
(C) Maharsi Kapila
(D) None of them

According to the
Philosophy, ‘Sankara’ is a

(A) Jati
(B) Jativadhaka

Vaisesika

(C) Samanya
(D) None of the above

It is admitted in VaiSesika philosophy
that the Paramanus (atoms) are
different from one another in respect
of

(A) quality

(B) quantity

(C) Both quality and quantity
(D) None of the above

11.

12.

13.

14.

15.

TSR Wl FRRMICA o @b ‘iR’
s “ffafoe &1t 3ea

(A) =R el

(B) 0o wefey
(C) camr i

(D) Toia @Mbe

iy @ v R o SeiRasan
FoffFS, (BT 20l

(A) A € 75
(B) @9 € A
(C) @9 8 %
(D) Tz @FWbe

(A) T2 ¢Mex
(B) =R m
(C) == o
(D) & (T2

AeifRe i qee, TET 20 930
(A) =ife

(B) wifeqias

(C) T

(D) T @MbE

AR Wt FIFe 2R @, “RNISE
@ IR ffere 791 72 < 3@l
(A) =9

(B) Ifsrrel

(C) =9 8 «fFwe Tewm

(D) Toad @3 T



16.

17.

18.

19.

20.

/112

In Samkhya philosophy, Moksa is
also meant as

(A) Kaivalya
(B) Apavarga
(C) Nirvana
(D) None of the above

According to Yoga philosophy, sense
of ego is called

(A) Avidya

(B) Asmita

(C) Raga

(D) None of the above

The Bhatta Mimamsakas held that,
through  Anupalabdhi one can
perceive

(A) Dravya

(B) Abhava

(C) Soul

(D) None of the above

According to  Sankaracarya, by
nature, the Brahman is

(A) Saguna

(B) Nirguna

(C) God

(D) None of the above

To explain Maya, Sankaracarya
admitted that Maya is

(A) Sat

(B) Asat

(C) Sadasat

(D) None of the above
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Ramanuja held that a liberated soul
(A) becomes the Brahman

(B) becomes equal to Brahman
(C) becomes a Sannyasin

(D) None of the above

Plato maintained that knowledge
must have two characteristics; it must
be ‘of the real’ and

(A) interchangeable
(B) infallible

(C) intelligible

(D) None of the above

Plato explained his Theory of Idea in
the dialogue namely

(A) Apology

(B) Theaetetus

(C) Republic

(D) None of the above

According to Aristotle, the essence of
an effect or an object is the

(A) formal cause
(B) material cause
(C) efficient cause

(D) None of the above

Aristotle raised the ‘third man

argument’ against

(A) Socrates’ theory of knowledge
(B) Plato’s theory of ideas

(C) Descarte’s method of doubt
(D) None of the above
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For attaining certainty in knowledge,
Descartes followed

(A) method of elimination
(B) method of perception
(C) method of doubt

(D) None of the above

The arguments Descartes placed in
favour of the existence of God are of

two kinds—one is causal and the
other is

(A) logical

(B) ontological

(C) teleological

(D) None of the above

Spinoza maintained that the highest
form of knowledge is

(A) intuitive knowledge
(B) rational knowledge
(C) empirical knowledge

(D) None of the above

It is told that the nature of God as
described by Spinoza is similar to

(A) theism

(B) deism

(C) pantheism

(D) None of the above

The  harmony, which  Leibniz
considered as ‘pre-established’, exists
among the

(A) monads

(B) physical bodies
(C) souls

(D) None of the above
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According to Leibniz, the law of
identity, which is one of the bases of
self-evident propositions, may also
be called as

(A) law of non-contradiction
(B) law of contradiction
(C) law of nature

(D) None of the above

Locke mentioned about the three
degrees of knowledge in his book

(A) Some Thoughts on Education
(B) Elements of Natural Philosophy

(C) Essays  Concerning
Understanding

(D) None of the above

Human

According to Locke, innate ideas
(A) are universal

(B) vary from person-to-person
(C) do not exist

(D) None of the above

The idealism advocated by Berkeley
is known as

(A) strong idealism
(B) weak idealism
(C) objective idealism
(D) None of the above

Berkeley maintained that, the cause
of our ‘ideas of sensation’, which
cannot be created by us, is

(A) the external world
(B) the mind

(C) God

(D) None of the above
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Hume identified his scepticism as
(A) antecedent scepticism

(B) mitigated scepticism

(C) pyrrhonism

(D) None of the above

Hume admitted a relation between
simple impression and simple idea
which may be mentioned as

(A) relation of correspondence
(B) relation of coherence

(C) relation of identity

(D) None of the above

Kant maintained that his critical

theory of knowledge is
(A) revolutionary
(B) evolutionary
(C) contemporary

(D) None of the above

Kant considered Space and Time as a
priori

(A) experience
(B) intuition
(C) Both experience and intuition

(D) None of the above

According to Kant, the number of
categories of understanding is

(A) six

(B) twelve

(C) eighteen

(D) None of the above
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A copula must always be in the
(A) past tense

(B) present tense

(C) future tense

(D) None of the above

The negative element in a proposition
must belong to the

(A) subject

(B) predicate

(C) copula

(D) None of the above

Among the the true

statement 1is

following,

(A) all sentences are propositions
(B) some propositions are sentences
(C) all propositions are sentences

(D) None of the above

A proposition is

(A) a grammatical unit
(B) a linguistic unit
(C) a logical unit

(D) None of the above

Universal propositions are

(A) existentially affirmative
(B)
(C)

existentially negative

either existentially affirmative or
negative

(D) None of the above
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The proposition ‘All men are mortal’
is equivalent to

(A) some men are mortal
(B) no men are non-mortal
(C) no non-men are mortal

(D) None of the above

‘Knowledge is virtue :
vice’ is an example of

(A)
(B)
(C)
(D)

ignorance 1is

conversion
obversion
material obversion

None of the above

(I)  Some birds are black.
(A)
(I

The syllogism commits the fallacy of
(A) undistributed middle

(B)
(C) Iillicit major
(D) None of the above

All cows are black.

.. Some cows are birds.

illicit minor

Among the following that which is
not a valid mood in figure III is

(A) DARAPTI
(B) DISAMIS
(C) FESAPO
(D) None of the above

AAA cannot be a valid mood in the
second figure of syllogism because it
would involve the fallacy of

(A) illicit minor

(B) illicit major

(C) undistributed middle
(D) None of the above
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Dilemma is that, which contains

(A) two alternative propositions in
conjunction

(B) two hypothetical propositions in

conjunction

(C) one alternative proposition in
the minor premise and one
alternative proposition

conclusion

(D) None of the above

in the

The figure of a syllogism is

determined by the position of the
(A) major term

(B) minor term

(C) middle term

(D) None of the above

Symbolic logic builds a/an
(A)
(B)
(C)

deductive system
inductive system

Both deductive and inductive

system

(D) None of the above

The
equivalent to

(A) pD(g>Dr)

expression [(p-q) Dr] is

(B) (pDq)>Dr

(C) pDgDr

(D) None of the above

If ‘P’ is true, then ‘pVvq’ is
(A)
(B)

(C)
(D)

true
false
either true or false

None of the above
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‘Preachers are not always right’
—can be symbolized as

(A) (x)(PxD~Rx)
(B) (Ix) (Px-~Rx)
(©) (3x) (~Px-Rx)
(D) None of the above

‘England and Germany will both not
be winners’ —can be symbolized as
(A) ~Ev~G

B) ~(E-G)

(C) ~E-~G

(D) None of the above

A disjunction of a pair of
propositions cannot be true when

(A)
(B)

(C)

both disjuncts are true
both disjuncts are false

one of the disjuncts are true and
the other is false

(D) None of the above

Inductive logic is also known as
(A)
(B)
(C)
(D)

formal logic
material logic
model logic

None of the above

ABC — Xxyz

A+BC — x+yz

A++BC — x++yz

. A and x are causally connected :
it is the schematization of

(A)
(B)
(C)

the method of agreement
the method of difference

the method of
variation

concomitant

(D) None of the above
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Annambhatta considered Jiiana as the
cause (Hetu) of

(A) Sarvavyavahara
(B) Kriya
(C) Parivartana

(D) None of the above

According to Tarkasamgraha, the

apprehension of knowing something
is called

(A) Anumana

(B) Anumiti

(C) Anuvyavasaya
(D) None of the above

According to Tarkasamgraha, Smrti is
possible due to the Samskara namely

(A) Bhavana

(B) Vega

(C) Sthitisthapakata
(D) None of the above

Samsaya is a/an

(A) Prama

(B) Aprama

(C) Smrti

(D) None of the above

Fill in the blank :
““Vyaparavad asadharanam karanam

9

(A) Karanam
(B) Karanam
(C) Karyam
(D) None of the above
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‘Anyathasiddha’ means

(A) being proved as a cause of some
other effects

(B) eligible to be the cause of the
effect under consideration

(C) general cause

(D) None of the above

Having perceived a table the

apprehension that—it is a table—is
an example of

(A) Nirvikalpaka pratyaksa

(B) Savikalpaka pratyaksa

(C) Yogaja pratyaksa

(D) None of the above

According to Nyaya philosophy, the

general character of an object can
known through

(A) Samanyalaksana pratyaksa
(B) Jnanalaksana pratyaksa
(C) Yogaja pratyaksa

(D) None of the above

The Nyaya philosophers admitted
that Pratyabhijia can be included in

(A) Prama

(B) Aprama

(C) Smrti

(D) None of the above

According to Nyaya philosophy, in an
inference, Vipaksa means

(A) the locus where the Sadhya of
an inference exists

(B) the locus where the Sadhya of

an inference never exists

the locus where there is a doubt
about the existence of Sadhya

(€)

(D) None of the above
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The term ‘Paksata’ means

(A) eligibility of an object to be a
Paksa of an inference

(B) presence of the Hetu of an

inference in its Paksa

(C) presence of the Sadhya of an

inference in its Paksa

(D) None of the above

In Nyaya philosophy, the Hetu of an
inference is also called as

(A) Karana
(B) Karana
(C) Linga
(D) None of the above

Among the following, which is not a
way of knowing Vyapti is

(A)
(B)
(€)
(D)

method of Anvayi
method of Vyatireki
method of Upadhinirasa

None of the above

Sakti, according to Tarkasamgraha, is
(A)
(B)
(€)
(D)

physical strength
natural power
capacity of originating knowledge

None of the above

The sentence ‘Tattvamasi’ is

example of

an

(A) Jahatsvartha laksana

(B) Ajahatsvartha laksana

(C) Jahad-ajahatsvartha laksana
(D) None of the above
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The number of the conditions need
to be fulfilled by an object for being
a valid Hetu is

(A) one
(B) three
(C) five
(D) None of the above

The ‘Sapaksa’ of the
inference—*‘The hill has fire because
it has smoke’ —is

(A) hill

(B) lake

(C) fire

(D) None of the above

The Vadhita
known as

hetvabhasa 1s also

(A) Prakaranasama
(B) Anaikantika

(C) Kalatita

(D) None of the above

The Anupasamhari hetvabhasa is a
classification of

(A)
(B)
(€)
(D)

Savyabhicara hetvabhasa
Asiddha hetvabhasa
Viruddha hetvabhasa

None of the above

The

in the

Hetvabhasa (fallacy) committed
inference—The unicorn is
speedy because it has wings—is

(A) Asrayasiddha hetvabhasa

(B) Viruddha hetvabhasa

(C) Satpratipaksa hetvabhasa

(D) None of the above
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Ethical judgements are
(A)
(B)
(€)
(D)

based on perception
intuitive
inferential

None of the above

Moral judgement of an action is done
on the basis of the doer’s

(A)
(B)
(C)
(D)

The
(A)
(B)
(C)
(D)

character
intention
motive

None of the above

‘freedom of will’ is

a postulate of moral judgement
a process of moral judgement
a proof of moral responsibility

None of the above

The theory of punishment which
intends to rectify the person
concerned is

(A)
(B)
(€)
(D)

preventive theory
reformative theory
retributive theory
None of the above

The

naturally desire happiness’—is an
example of

(A)
(B)
(C)
(D)

The
was

(A)
(B)
(C)
(D)

statement—‘‘Human  beings

psychological hedonism
ethical hedonism
utilitarianism

None of the above

utilitarianism advocated by Mill

gross
refined
natural

None of the above

18

81.

82.

83.

84.

8S.

86.

i e 2
(A) ororsiefes

(B) Fe@rEw
(C) ST
(D) Toidd @Fe W

@ Gl R[eawen 41 28 @ 2@
(A) tRa

(B) T

(C) wfeam

(D) Toad @3 T

EZE RO

(A) G ROl @F1s FIFRl 37y
(B) cafes famrcas «fo &l

(C) G MR 915 2wl

(D) ¥ @FMbe T

Ay A @ ToAm REE ANET T
FREI ACT STICel FHATe! (1t 2¢eTl
(A) =feEaes Toqm

(B) RCMET=IF oM

(C) dfsreiiaree Toqm

(D) Tz @Fbe

“TRE FOROSR Y FEAl D
@ facEa Twrzgel o 2eem

(A) SRS J4qm
(B) TfsRwmpre sJam
(C) oM

(D) Toica @Mbe

e 2Ibiffe SercamsEm fee

(A) ==

(B) =
(C) Hrei®

(D) %o @Fbe W



87.

88.

89.

90.

91.

/112

The term ‘perfection’
perfectionism means

in Hegel’s

(A) perfection of the total self
(B) perfection of actions

(C) perfection of thinking

(D) None of the above

“Moral law is a  categorical
imperative’’ is said by

(A) Hegel

(B) Bradley

(C) Kant

(D) None of them

Among the following, which is not
included in the discourse of practical
ethics, so far, is

(A) euthanasia

(B) racism

(C) theories of punishment
(D) None of the above

Man’s relation to land and to the
animals and plants which grow upon

it—is known as
(A)
(B)
(C)
(D)

deep ecology
biology
environmental studies

None of the above

Discrimination means

(A) different treatment, better than

normal

(B) different treatment, worse than

normal
(C)
(D)

equal treatment

None of the above
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Racism can be of two types : one is
overt and the other is

(A) introvert

(B) covert

(C) diverted

(D) None of the above

Among the following thinkers, who
identified women as ‘defective male’
is

(A) Plato

(B) Auristotle

(C) Thomas Aquinas
(D) None of them

Gender difference is
(A) normal

(B) artificial

(C) political

(D) None of the above

According to the psychologist Stout,
among the three levels of
introspection, the third level is

(A) pre-scientific

(B) scientific

(C) post-scientific
(D) None of the above

According to Titchener, the number
of attributes present in a sensation
are

(A) two
(B) four
(C) six
(D) None of the above

In psychology, Weber-Fechner law of
sensation is also known as

(A) law of psycho-physics
(B) law of psycho-analysis
(C) law of psycho-sensation
(D) None of the above
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The term ‘Gestalt’ is a/an
(A) Latin term

(B) English term

(C) German term

(D) None of the above

Retroactive inhibition is one of the
causes of

(A) good memory

(B) forgetfulness

(C) learning

(D) None of the above

Change and strangerness are two
conditions of attention, which are by
nature

(A) subjective

(B) objective

(C) Both subjective and objective
(D) None of the above

Among the following psychologists
who experimented on the matter that
response like fear may also be
conditioned, is

(A) Pavlov

(B) Watson

(C) Thorndike
(D) None of them

The theory of lapse intelligence is a
theory about

(A) the origin of instinct
(B) the nature of instinct
(C) the role of instinct
(D) None of the above
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The power of learning by experience

must be regarded as instinctive—is a
concept of

(A) William James
(B) McDougall
(C) Stout

(D) None of them

Freud maintained that

(A) mind and consciousness are of
equal expansion

(B) mind is having more expansion
than consciousness

(C) consciousness is having more

expansion than mind

(D) None of the above

Consciousness cannot have definite
definition but a

(A) description

(B) discussion

(C) demonstration

(D) None of the above

Freud’s theory of dream is a

(A)
(B) psychological theory
(C)

physiological theory

Both physiological theory and
psychological theory

(D) None of the above

According to Freud, adult’s dreams
have two types : these are

(A) manifest content and latent

content

(B) manifest content and suppressed

content

(C) suppressed content and lost
content

(D) None of the above
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Hallucination is a/an

(A) normal imagination

(B) abnormal imagination

(C) necessary process

(D) None of the above

Intelligence is the combination of two
factors—is a concept maintained by
(A) Woodworth

(B) A. Binet

(C) Spearman

(D) None of them

In psychology, the term ‘memory’

means both the mental capacity of
retention and

(A)
(B) reproduction

repeatation

(C) learning

(D) None of the above

In a primary group the members
have

(A) intimate relation
(B) indirect relation
(C) artificial relation
(D) None of the above

One of the characteristics
community is

of a

(A) spontaneity

(B) artificiality

(C) difference in culture among the
members

(D) None of the above

Following a custom is
(A) attached with value judgement

(B) not attached with
judgement

(C) meer habit
(D) None of the above

value
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According to Gisbert, the folkways
that are considered as regulators of
behaviours are called

(A) rules

(B) system
(C) mores

(D) None of the above

The concept of social class is directly
related to the concept of

(A) moral standard

(B) hierarchical position

(C) cultural condition

(D) None of the above

In India, caste of a person is
determined by

(A) profession

(B) economic condition

(C) birth

(D) None of the above

Marxist theory of social change

identified the process by which social
change takes place as

(A)
(B)
(€)
(D)

dialectic

mechanical

Both dialectic and mechanical
None of the above

The book, Problems of Political
Philosophy was written by

(A) D. D. Raphael

(B) J. S. Mill

(C) John Rawls

(D) None of them
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To achieve the goal, the Utopian
socialists did not support the process
of

(A) revolution

(B) understanding the ideal
(C) realising the ideal
(D) None of the above
Mahatma  Gandhi
Varnasramadharma

(A) in the Vedic sense

believed in

(B) in its present form of caste
system

(C) from political point of view
(D) None of the above

For Gandhiji, the practice of
non-violence was a way to

(A) God

(B) Truth

(C) Sarvodaya

(D) None of the above

For social justice for the oppressed

class, Dr. Ambedkar mobilized them
with the motto

(A) educate, agitate and evaluate

(B) educate, evaluate and unite

(C) educate, agitate and unite

(D) None of the above

According to Rabindranath Tagore,
manhood means

(A) social service

(B) kind nature

(C) an extra awareness that is
greater than his material sense

(D) None of the above
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According to Rabindranath Tagore,
the base of religious life is

(A) love
(B) sacrifice
(€)

(D)

sincerity

None of the above

Rabindranath Tagore advocated that
the medium of instruction should be
(A)

the language of majority

(B) the language used in adminis-
tration

(€)
(D)

mother tongue

None of the above

Sri Aurobindo
creation is nothing but an

maintained  that

(A) expression of sorrow
(B) expression of nothingness
(C) expression of joy

(D) None of the above

According to Sri Aurobindo, the most
important character of evolution is

(A) widening
(B) heightening
(C) integration

(D) None of the above

Integration, in the philosophy of Sri
Aurobindo means

(A) enlargement
(B) ascend through descend
(C) expansion

(D) None of the above
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According to  Sri  Aurobindo,
evolution is possible only when the
process takes place, which is called

(A)

(B) involution

destruction

(C) Both destruction and involution

(D) None of the above

The question raised in the lecture,

‘The real nature of man’—*Is this
real?’ is about

(A) life
(B) the world
(C) the soul

(D) None of the above

Swami Vivekananda commented in
his lecture, ‘The real nature of man’
that we run after everything to make
ourselves

(A) busy
(B) glad
(C) happy
(D) None of the above

Swami Vivekananda felt that the
highest ideal is to regard God as

(A) mother
(B) father
(C) beloved
(D) None of them

The article, ‘Refutation of Idealism’
was written by

(A) Bertrand Russell
(B) Whitehead

(C) G. E. Moore
(D) None of them
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According to Moore, the existence of
the objects in the external world

(A) does not depend upon human
perception

(B) depends upon human perception

(C) cannot be known

perception

(D) None of the above

through

The book, Problems of Philosophy
was written by

(A) G. Ryle

(B) A.J. Ayer
(C) B. Russell
(D) None of them

Atomic facts, for Russell, are
(A) facts of atomic physics
(B) sense-data

(C)

(D)

facts of logical space

None of the above

‘Philosophical Investigation’ is a work
of

(A) G. E. Moore
(B) G. Ryle

(C) Wittgenstein
(D) None of them

According to
metaphysical language is

(A)
(B) related to facts
(C)
(D)

Wittgenstein,

confusing

related to religion

None of the above

78

134.

13S.

136.

137.

138.

T @9 TS, AT IS T AEH
(A) Ifeq zrorwear TR fréasie
(B) wfem aromrcela Tom fdailel
(C) 2opFFee TUCT S IR 11
(D) To[aR (@03 W

fay

‘2RI O] eI 43f6 fercacae
(A) f&. =@ize
(B) 9. (¥. 97«

(C) R. =

(D) 9T FTB T

AICTCETR TS, SoRT ToAmle 2ceTl
(A) =R “meffesicers SHme
(B) 2f Tore

(C) @fes omi-ag Tl

(D) Toia @Mbe o

“ReepTirpiiE BACeRbCaE’ AR Ao, o

(A) & 2 39
(B) f&. fze

(C) febeorPhiza
(D) 97F (FTE

febealmmBiRcTs qe, Siifwia o™l 2@t
(A) feErfess

(B) IBIRE®

(C) gTifFe

(D) Tz @3 T



139.

140.

141.

142.

143.

144.

/112

“Every proposition in which a
description which describes nothing
has a primary occurrence is false’ is
a statement by

(A) G. E. Moore

(B) B. Russell

(C) Wittgenstein

(D) None of them

‘Picture theory’ is associated with
(A) Wittgenstein

(B) Bradley

(C) Strawson

(D) None of them

The term ‘religion’ is derived from
the word

(A) God

(B) religare
(C)
(D)

region
None of the above

Animism regarding the origin of
religion was advocated by

(A) John Hick

(B) John Caird

(C) E. B. Tylor

(D) None of them

The theory that advocates that God
is wholly immanent the world is

(A) pantheism

(B) deism

(C) theism

(D) None of the above

The cosmological argument for the
proof for the existence of God was
raised for the first time by

(A) Descartes

(B) Auristotle

(C) Plato

(D) None of them
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The basic concept of ‘law of Karma’
of Hinduism leads to the concept of

(A) Dharma
(B) Rebirth
(C) Moksa
(D) None of the above

In Buddhism, a liberated person is
called

(A) Sannyasin

(B) Buddha

(C) Arhat

(D) None of the above

The term ‘Islam’ means
(A) surrender

(B) faith

(C) devotion

(D) None of the above

One of the pillars of Islam, Ramjan
or Roja refers to

(A) prayer

(B) pilgrimage

(C) fasting

(D) None of the above

The Bible has two parts : one is the
Old Testament and the other is the

(A) Neotestament

(B) New Testament
(C) Naive Testament
(D) None of the above

Christianity is a religion based on
(A)
(B)
(C)
(D)

Judaism
fetishism
naturalism

None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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1.

10.

11.

12.
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Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable
to be changed.
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The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks

on the Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR
Answer Sheet.
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Handle the Question Booklet and the Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and the OMR Answer Sheet Number in
the Attendance Sheet.
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager,

mobile phone, electronic devices or any other material except the Admit Card and Photo Identity Card
inside the Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change
his/her seat. .
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first

after taking their seats in the Examination Hall/Room and second at the time of handing over their
OMR Answer Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer
Sheet to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a
candidate has not signed the Attendance Sheet a second time will be deemed not to have handed over
the Answer Sheet and dealt with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct
in the Examination Hall/Room. All cases of unfair means will be dealt with as per rules and
regulations of the Board.
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No part of the Question Booklet and the OMR Answer Sheet shall be detached under any
circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in
the Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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